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The figures in the ‘mqrg'in‘ indicate
Jull marks for the questions.

Answer either in English or in Assamese.
1. Answer the following questions: 1x8=8
(a) State the law of demand.
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"(b) What is a market ?
@i e

(¢) What is market supply ? -
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(d) What is inflation ?
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e W ' (
) del:r?:nag i the components °f_aggregate '
AR BiRAR . - : (c) Why is a firm sa1d to be a ‘price taker’
’ . SRR ﬁs? : : in ‘perfect compet1t10n ? ,
Lr)lt t?e consumption function wi, . - of efraiers < afodtre R W o
: Zerzlgconsumptlon when lnc()mat is FeEter @ e
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C@T‘Ffwm : _ (@) Explain briefly the concept of
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g, ive an example of example. ‘
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' © (e Give Hicks’ definition of income.
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: (h) Define ﬁscal deficit in g4
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() What constitute the domestic terrxtory

of a country?
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T R eritares ﬁ@?’tﬂ)‘ m@m fﬁm?XGﬂz : (g What is the condition for equilibrium
' : : e _ ‘ in an economy ? ' :
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' (h) InterpretY=C+I in the ex-ante sense.
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(b) Define Mar
ginal R
(MRT). ate of Transformauon o AR
RS ~ - ' is a id t ?
IE AT Ta ey ot | . _ ) When is a tax sal‘ 1 to be buoyaflt
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Differentiate between a direct tax and

an indir ‘eyc‘t' tax.
O TSR AT I AL e

3. Answer any four of the following questions ‘:

(@)

(b)

(c)

. along a demand curve.
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' - 3 . 5x4=20
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Point out the distinction b ' '
. ‘ > dis on betwee i
- in the demand curve and o ohilts

, ‘movements
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What is meant b'.yr'cross ice ‘elastici

‘ . S.price elastici
of demand ? What will be the sign (t)};

the elasticity in cases when the two

goods are of substitutes and :
are compliments ? when ey
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Bring out the main
between a perfectly
and monopoly.

points of distinction
competitive market
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regressive taxation.

How is’ the market - demand curve
derived from the individual demand

" curve ? Expléin diagrammatically.

<ofRore BifE (R <1 TR BRI R
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Define unemploymeﬁt. How is the

unemployment rate calculated ?
o ' 2+3=5
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What is a Mulﬁplier? Mlustrate its

operation using an illustrative example.

o | 2+3=5
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What is ‘ax’? Mention a few important
features of taxation. ~ 1%4=5
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Explairi regressive taxation with the
f a diagram. State two merits of
3+2=5
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4. Answer any two of the followmg questlons

10x2=20

ﬁ‘aﬁﬂﬂ—ﬁﬁﬂw ﬁmmzﬁl?@@aﬁ?n

(@) Explam the idea of oppo_rtunity cost.

(b)

(c)

(@

Define and draw Production Possibility

. Curve (PPC)? What do points outside
- and points inside the PPC signify? -
| 3+3+4=10
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Explain how equilibrium is determined
in a competitive market ? Under what

conditions will the equilibrium be
stable ? : 7+3=10
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Describe the circular flow of Income in
an economy.
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Distinguish between the current

~ account and the capital account of the
balance of payment. Describe the

components of the current account.
: 4+6=10
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Describe the structure of a budget. fHOW
is the revenue account different from .

that of the capital account? 6+4=10
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